o o o
e § e § e 8
Ew s ] E o L F < E
E8 1o ] * 1o S 1o
o> g o ) i o) £ > a0
E El E 30 E 30
E ERS E ERS E ERS
£ 1o £ 1o £ 1o
E 9 O E 4 O = 4 @
g 19 3 g 19 3 g 19 3
E ER E ER E ER
F R E - E -
E 10 O E 10 0O E 10 0O
0 JMm o - g M0 Q = J 0 Q
E 19 g E 19 g E “ 19 E
E ER E ER E Tl o
i it i igh i igh
iy = oY) iy g A = o - QN
E E E E E El
E E E L3 E E
ool 48 Fndloolonlinl 48 Ebonibiintn 1l 38
o wn o wn o ® o wn o wn o ® o w0 o wn o ®
] - - ] - - ] - -
d d d
(1 jow)/reoy) "o (1 jow)/reoy) "o (1 1ow)/1e0M) "0
o o o o
E E E E F o E Fu E
E § 1o Pl 1o F R 1o Ed 1o
£ =TeY [ =) £ o = o) E T =Tl
E E E E E ER E ER
E 3 E ER E ER S E ER
£ Fi 1o £ 1o £ 1o £ 1o
o a3 O o 49 O o a9 O £ a9 O
g ’ 1% 3 g 1% 3 g 1% 3 g 19 3
E ER E ER E ER E ER
E :8 g E :8 8 E :8 8 E :8 8
E RS E ERCN= E ERC= 3 ERC=
E 1o E 1o E i ° E ERC
£ :O'_ £ :ol_ £ :ol_ £ :ol_
= O AN = =i oV = =i oV} = in Y oV
F ER F E F E F ER
E EPS E T 1o E 1o E EPS
[T N I A B e [T AT I I B e [T NS WS WA R e (ST AT AN AN B et
2 2 2 2 2 2 2 2
d d d d
(M 1ow)1e0y) “0 (M 1ow)/e0y) “0 (1 jow)sreoy) “0 (1 1ow)zreoy) “0
o o o o
ES E Es E F s E £ 8 E
F x 19 F Y 19 F e ER=} F 2 Bl =}
o =T} £ o> i o) £ > i TS ) ;E g0
E 30 E ERE E 30 E ERI
E E 4 E ER - E ER - E ER -
£ 12 o £ 12 £ 12 o £ 12
E 135 E ER R E ER E ER R
E B - C B - s ul — C | =
E EI E E E EI E E
£ :% 8_ £ :8 8_ £ :8 8 £ :8 8
3 ER= 2 ER= 2 ER= 3 ER=
E i o E ERNC E ERN E ERN
£ :O}_ £ :O'_ £ :O|_ £ :O|_
E ERG E ERg E ER E ER
E ElPS E 1o E ElPS E 1o
Bl b bl 4 & ST AT R AR B et SR ST I AR B et SRR IS I AR B et
2 2 2 2 2 2 2 2
d d d d
(1 1ow)/1eoy) “o (1 1ow)/reoy) “o ((1 1ow)/1eay) “o (01 1ow)/1eay) “o
o o o o
E [0 | E w | E | E < |
E o . E E 5 E E 0 B r o B
E 2 1o SN El=) F B E=Y F S El=)
-3 4 9 = -4 9 = -4 9 = > - 9
£ § :O’)A £ ::‘OA £ :m,\ £ :m,\
£ ERS E E E N3 E ER
£ 1o £ 1o £ 1o £ 1o
£ 9 O £ 4 0 £ 4 @ E 45 @
C 1 ™M 5 C 1M S C 1 ™M S C 1M 5
E | -— E | -— E | -— E | -—
E ER E ER E o ER E ER
£ :8 8_ £ :8 8_ £ :8 8_ £ :8 8_
3 ER= 2 ERC= 2 : ERC= 3 ER-
F E) F i o F EC) E EC
g 1o F g 1o F g 1o F g 1o F
E g A = = A = = A = g
E ER E ER E ER E ER
E E E E E E
Fovlinlonlonl 38 ol ol 38 Folinlin ol 38 Folinlion ol 38
o ® o ® o ® o ®
[eV) [eY) [aY) N

nu o uw o
- -

(> 1ow)/rey) 99

n o v o
-

(> 1ow)/rey) 9

n o v o
- -

(> 1ow)/reoy) 9o

n o v o
—

—

(1 1ow)/reay) 99

Figure S1. Heat capacity best-fits for each structure using the employed 2-parameter (i, Vi) model. The
native torsion entropy, .., is determined by the average value from the 3-parameter best-fits, which is applied
uniformly to all structures (cf. Table 3). Solid lines are model results, whereas points are experimental data.



